2019 4E Science Chemistry SA2 - Assumption English

1 A basic gas X is denser than air and is very soluble in water.

Which method is used to collect a dry sample of the gas?
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calcium oxide

2 Which changes will occur when a liquid at room temperature becomes a gas?

energy of particle separation of particles
A decrease increase
B decrease decrease
C increase decrease
D increase increase




3 A chromatogram of several inks is shown below.
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Black Red Blue Green Orange Brown

Which of the following three inks, when mixed, does not obtain black ink?

blue, green, brown
green, orange, brown

red, blue, green
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red, green, brown

4 Students are asked to state

e the number of atoms in one molecule of aqueous ammonia; and
e the relative molecular mass, M, of this alkali.

Which of the following options shows the correct answers?

number of atoms M;
A 3 17
B 4 18
Cc 4 35
D 7 35




5 The table below shows four substances and some of their properties.

substance effect of heat in air solid Cond.UCtS melting point
electricity
W decom_poses to form a o fixed
solid and a gas
X forms a basic oxide no fixed
Y melts yes fixed
Y4 melts yes variable

Which of the following statements is true about the substances W, X, Y and Z?

A Wis an element.

B Xis a diatomic element.

C Y can be separated by physical methods.
D

Z is a mixture.

6 The following table shows information about elements X and Y.

element proton number mass number
X 11 23
Y 8 17

What is the chemical formula and type of bond of the compound that is formed between X and

Y?
chemical formula type of bond
A XY covalent
B XY 2 covalent
Cc X2Y ionic
D XY2 ionic




Which of the following substances is expected to have low melting and boiling point, is insoluble
in water and does not conduct electricity at all?

CCl4
MgO
NaCl
PbSO4
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0.1 mol/dm? hydrochloric acid reacts with 25 cm? of 0.2 mol/dm?® aqueous sodium carbonate.
The equation for the reaction is shown.
2HCI + Na;CO3 = 2NaCl + H,O + CO;

What is the volume of acid required to neutralise exactly this volume of sodium carbonate?

A 6.25cm?
B 25cmd
C 50cm®
D 100cm?

Solutions of two chemicals are mixed. A reaction occurs and the temperature change is
measured.

Which statement is correct?

A If the reaction is endothermic, energy is taken in and the temperature of the mixture
decreases.

B If the reaction is endothermic, energy is given out and the temperature of the mixture
increases.

C If the reaction is exothermic, energy is given out and the temperature of the mixture
decreases.

D If the reaction is exothermic, energy is taken in and the temperature of the mixture
increases.
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Acidified aqueous solution X is added to compound Y.

Solution X changes from purple to colourless. What can X and Y be?

solution X compound Y
A potassium manganate (VII) reducing agent
B iodine solution reducing agent
Cc potassium manganate (VII) oxidising agent
D iodine solution oxidising agent

Hydrogen chloride gas is soluble in both methylbenzene, an organic solvent, and in water.

In an experiment, hydrogen chloride gas is bubbled into the different solvents.

methylbenzene

Flask A Flask B

water

When a few drops of Universal Indicator solution is added into flask A, the indicator remained
green but when added to flask B, it turned red. What could be the reason?

HCI does not produce hydrogen ions in methylbenzene.

HCI undergoes a redox reaction with methylbenzene.

HCI neutralises the Universal Indicator solution.

O o0 W >»

HCI neutralises methylbenzene.

Which of the following oxides can react with both acids and alkalis?

A lead(II) oxide

B calcium oxide
C iron(II) oxide

D copper(Il) oxide
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The following shows part of the Periodic Table. The letters do not represent the actual symbols
of the elements.

Period Group
I Il m v | v | vlijvi|o
1
Ul s T
3 Y Y4

Which one of the following statements is false?

A U, S and Y are metals, while T and Z are non-metals.
Y has a higher boiling and melting point than U.

The compound formed between S and T has the formula of ST-.

O O W

The oxides of U, Y and S are basic.

Stainless steel is used to make cutlery. Aluminium is used to make food containers.

Which property do both stainless steel and aluminium have that makes them suitable for these
uses?

They are very strong.
They are good conductors of heat.

They are good conductors of electricity.
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They are resistant to corrosion.

Which reaction occurring in the blast furnace is a neutralisation reaction?

C+C0O2— 2CO

C+ 02— CO2

CaO + SiO2— CaSiOs
Fe203+ 3CO — 2Fe + 3CO:

O o0 w >»



16 Metals X and Y display the chemical behaviours as shown below when added to the various

solutions.
aqueous solution metal X added metal Y added
magnesium nitrate no reaction no reaction
zinc nitrate zinc displaced no reaction
iron(II) nitrate iron displaced no reaction
copper(II) nitrate copper displaced | copper displaced

Which of the following is the correct arrangement of metals in order of decreasing reactivity?

magnesium, X, zinc, iron, Y, copper
magnesium, zinc, iron, X, Y, copper

magnesium, X, zinc, iron, copper, Y
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X, magnesium, zinc, iron, Y, copper

17  An 80 cm? sample of air is trapped in a syringe. The air is slowly passed over heated iron in a
tube until there is no further decrease in volume.

iron
[H - |IIII IIII|IIII|IIII|IIII|IIII|IIIII_- \ IIII|IIII|IIII|IIII|IIII|IIII|IIII| El]
_ » / [ = I
80cm? of air

heat

When cooled to the original temperature, what is the volume of gas remaining?

A 17cm?
B 21cmd
C 63cm?
D 80cmd
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Which of the following hydrocarbons would you expect to find in petroleum gas?

CsHs
C7H14a
CisHas
C2oH22
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Which of the following petroleum fractions is correctly matched to its use?

fraction use
A bitumen as feedstock for chemical industry
B naphtha for making roads
C lubricating oil for making polishes and waxes
D diesel oll as jet fuel

When petrol is burnt, gases are produced.

Which gas is toxic and is produced by incomplete combustion of petrol?

carbon dioxide
carbon monoxide

oxides of nitrogen
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water vapour




Data Sheet

Colours of Some Common Metal Hydroxides

calcium hydroxide white
copper(Il) hydroxide light blue
iron(IT) hydroxide green
iron(IIT) hydroxide red-brown
lead(II) hydroxide white
zinc hydroxide white




('d'yJ) aunssaud pue ainjeladwa) wool je WP YT sl seb Aue Jo 3|0W U Jo aWnjoA 3y |

- - - - - - - - - - - 9ce I£Z zeT -
WRIDUSIME] [ WnI[BgoU |WUNnSSpUsl|  Wniey | Winiusjsue | wniwojies | wnipyisg wnuna wnppewe | whwoynyd | wrumday | wniuvesn | wmugoejoad | wnuowyy wnuae
I ON PN w4 sd 0 i wo wy nd dn n ed UL ay
€0l zol Lol 00l 66 86 16 96 56 ¥6 £6 z6 K] 06 68 splounjoe
G/l ell 891 191 59l €91 851 151 251 05l - il Ll ovl 8El
wngam| winigapk wmnyy wnigie wmwjoy |wmnsosdsfp | wmgey | wnuopeb | wnidone | wnuewes |wmyswoid | wniwAposu |ynwipoaseid| WU wnueLpuej
n aA wy 3 OH Aa qL P n3 ws wd PN Id o) E
L 0L 69 99 /9 99 59 9 £9 z9 19 09 65 25 ple Spicueyiue|
winuoLLuaa| wnsesay wni2iwades |wnuaebuacs E:.Emlu.mE._mu wnuauyaw | wnissey wnuyeq |wnibiogess| wnugnp  |woipsopsLyinyg wnipel wnjauey
A H ug By sQ W SH ugd bs aq Jis spougee | B 14
aLl wLL AN LLL oLl 60} g0l L0 a0l =0 0L |e0L-68| 98 18
= - - 602 202 02 L0Z 161 S61 61 061 a8l 8L L8l 8.l /8L £El
uapel Bunjejse wniuojod pnuwisigq pes| Lunij ey} Anasaw pjo6 wnugejd Lnipul wnwso wniusyl usjsbuny win|ejue} wniwyey wnueq wnsesea
uy i\ 0d g dd 1L BH ny 1d I S0 2y M el iH spoueyue)| B SO
98 58 ve £8 78 18 08 6. -7 L 9l G/ 7l el zl Ll=15 95 55
LEL 121 8zl zzl 6L Sl Zhl 201 90l £0l Lol = 9 £6 L6 69 89 c8
uouax aupol wnuney | Auownue ug wnipul wniwpes FELTH wnipe|ed wnipoyl wnuagn | wmauy?e jwnuspaflow| wmge wnuoaz wnuyA wnguons wnipign
X I 8L as us ug PO By Pd Uy ny 3l oW anN 17 A 18 a4
75 €5 z5 15 05 8F 8y A or =4 a4 £F A R4 or 6 8c 18
78 08 BL S/ €/ 0L g9 79 65 6% 9s GS s LS ey S or 6E
uogdiay aulweiq wniue@s owesie | wnuewsst | wneb wue 1addoa |ey2iu jjegoo uol asauebuew| wnweoays | wnipeuea winiueyy Linpueas Lwnes wnissejed
M 18 a5 Y 39D ED uz no IN 0D 24 U D A 1L a5 ED bl
g¢ 5e Ve £¢ Z€ e 0g 62 8T T 9z 74 44 €T (44 Iz 0Z 6l
or §'SE ze e 82 i ¥z €z
uobie sulo|ya Iryns snioydsoyd uo3N|Is wnuinge wnissufew| wnipos
Iy 10 S d IS v B EN
8l il 9l 5l 7L £l zl Ll
0c 6l gl 142 4 L SSEW OILOJE DAfE[8) 6 .
uoau auuony uabAxo uabosu uoqiea ugJiog aweu iy jfuag Lunig
aN d (0] N D] g loquiAs slwoje ag 1
0l 6 g L 9 S Jaquinu (olwoye) uojold 14 €
4 L oy
wnyay uaBouphy
eH H
z L
0 A 1T A T A T AT m ] [ T 1
dnoig

SJUaWa|3 Jo |qel dIpolad ay]



	SA2 Assumption English

